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1. A tin of cat food costs 40p.

A shop has a special offer on the cat food.

Special offer

Pay for 2 tins and get 1 tin free

Julie wants 12 tins of cat food.

(a) Work out how much she pays.

9 of the 12 tins are tuna.

(b} Write 9 out of 12 as a percentage.

The normal price of a cat basket is £20

( 3hne oot Cop .

A hns  cestk @@}(é}ﬂ;%;’;w;ﬁ)

In a sale, the price of the cat basket is reduced by 15%.

Redvchon = ISl
N@"T""Mﬁi Fiﬁ’“;f,(f,, = ’@Q fw
;5(}&}@_ Pi"{flﬁ = 85/
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(¢) Work out the sale price of the cat basket.
Normal price = S ale

pr tee + Rediohom

oy 5@5&1 F'Tf(jﬁ. ?Q?j’%
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2. A school shop sells four flavours of crisps.

Sandra kept a record of the sales of erisps in one week.
The table gives some information about the sales,

Flavour Percentage sales
Plain 25%

Salt & Vinegar 40%
Cheese & Onion 20%

Beef i 5 W/ o

{a} Complete the table,
(1)

(b} Which flavour of crisp had the highest percentage sales?

Salt g Vimegar

(c) Write 25% as a fraction in its simplest form.
—=&5 ;
25 7L s
loo 4
S

EPR @
The school shop sold 200 packets of crisps that week.

(dy How many packets of Cheese & Onion crisps were sold during that week?
[ E} 8]
2. o !/ g O '“g“ loo .

%’E; X oo . 4‘® 4.0
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{Total 6 marks)
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3. The table shows the percentage of each type of book in a Iibrary. '
Type of book Percentage
Children’s . 24%
General 42%
Mystery 13%
Romance 15%
Science fiction 2%
Thriller 4%
(a) What type of book has the smallest percentage? ;
& oa ’ ; 2 Yo S
Secrence /ﬁa chen
(1)
by Write 13% as a decimal. g %
—132loe= Oul3
loo 5
{c) Write 24% as a fraction.
Give your answer in its simplest form.
— = = 25
lop IO 25 =2
2
There are 3000 books in the library.
(d} Work out 15% of 3000
; » ~ js,* rvery
K9 _ = I15x3xIo
19 3ooe = [9Xx30 ©
(0D
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(Tetal 6 marks)
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4. Hajra’s weekly pay this year is £240 ‘
This is 20% more than her weekly pay last year.
Bill says “This means Hajra’s weekly pay last year was £192°.

Bill is wrong.

{a) Explain why.

..... B ﬂﬁmw%/@ﬁ’zmwmﬂhmm\j .*

(b)y Work out Hajra’s weekly pay last year.
T 3&‘“{3 Py = 120 /o o f lant Year's Py . (12& b= iw
Thes j@fﬂﬂ”?ﬁ Pd’isﬁ = de 2 X lan fl“:—jéic&?’"is Pﬂﬁ . =l
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(Total 3 marks)
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5. A hotel has 56 guests. 25 +
35 of the guests are male. 5 4 5
{a) Work out 35 out of 56 as a percentage. \»:—g
;3;3 x oo = i « lvo = + _ xieo = ;%fj
56 3 4K o
s
oo i2.5 fo FosasxH ©7. 5
3 L Yo
)

40% of the 35 male guests wear glasses.

(b) Write the number of male guests who wear glasses as a fraction of the 56 guests.
Give your answer in its simplest form.

Wea ;r’ﬁ T x 85 = %.,;, X 35 = 14 mades W%wa.yjﬁfzwf;
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6. In a sale the normal price of a book is reduced by 10%.
The sale price of the book 15 £4.86

Calculate the normal price of the book.

Normal Prce = fale Prce + Redvchow .
oo 7o e ! + v/

’ o

e? — {?(:}?va
(7@;’ o f N rme| Iph’r:.e, = Sale Pﬂﬁ'c@;

O, 4 ¥ N p e Zﬁ’?”ié’,&‘:. bhe Q&

No rmal Pﬁc@, - 4@55 - 0
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e = 3.40
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(Total 3 marks)
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